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BRI BIRE fESIZHE]]; int as1[][];

int as1[]; long bs1[][];

long bs1[];

SRl BYRE[][] PESIATE;
BRI BURE[] PESIRATE;

int[][] as2;
int[] as2; long[][] bs2;

long[] bs2;
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int as1[][] = new int[][]{{11, -2}, {-3}, {24, 5}};
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int as2[][] = new int[3][4]; EET A EEREHAR
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(" int as3[][] = new int[3][];
as3[0] = new int[2];

as3[1] = new int[5];
as3[2] = new int[3];
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import java.util.Arrays;
class web({
public static void main(String[] args) {
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int as1[] = newint[l{1, 2, 3,4,5,6, 7, 8,9, 10};

System.out.println(as1[5]);
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int as2[][] = new int[][]{{1, 2}, {3, 4, 5, 6}, {7, 8, 9, 10}};

System.out.printin([as2[1][3]));
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import java.util.Arrays;
class web{
oWlalle sitsiie veid e o il 27z |

rint as[][] = new int[5][]; i

int sum = 1:

for (int i=0; i<5; i++) {

as[i] = new int[i+1];

for (int j=0; j<=i; j++) {
as[i][j] = sum;
sum++;

}
}

for (int i=0; i<5; i++) {
System.out.println(Arrays.toString(as[i]));
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[2, 3]

[4, 5, 6]
[7, 8, 9, 10]
[11, 12, 13, 14, 15]
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import java.util.Arrays;
class web{
public static void main(String[] args) {

int asl[] = new int[]{11, -2, -3, 24, 5};

for (28l : [F5IA)
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|for (inti:asl) {I
System.out.printin(i);
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Import java.util.Arrays; /E &BEEJE/]&M:L
class web{ | EHREJ 5 . 5—3
pu-l:r)]ltlcaztatlc_vno;d r.r:]:il[igﬁ[s]t.rlng[]args){ K%i%—nﬁlﬁﬂ % ,
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for (int =0; i<5; i++) B 0 5 {5 F — 4 P 5l
sl = new intis1] e, BuMELE -

for (int j=0; j<=i; j++) {
as[i][j] = sum;
sum++;

}
for (int[] iArr : as) { ﬂ'; 4= B8

for (int z : iArr) { 7%
System.out.printf( , 2);

}
System.out.printin("");
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